JALAPENO PEPPERS , IRRIGATED South Texas District (12) 1996 Projected Costs and Returns per Acre

100.00 Quantity 1.00 80.00 3.00 7.00 4.00 120.00 7.00 1.00 1.00 5.79	Unit acre b. b. appl acre appl b. appl acre	\$22.00 \$/Unit \$30.00 0.29 22.00 10.00 4.50 5.00 0.70 10.00 10.50	\$2,200.00 ======== \$2,200.00 Total	
1.00 80.00 3.00 7.00 7.00 4.00 120.00 7.00 1.00 1.00 5.79	acre b. b. appl acre appl b. appl acre	\$ / Unit ====================================	\$2,200.00 Total \$30.00 23.20 66.00 70.00 31.50 20.00 84.00	
1.00 80.00 3.00 7.00 7.00 4.00 120.00 7.00 1.00 1.00 5.79	acre b. b. appl acre appl b. appl acre	\$30.00 0.29 22.00 10.00 4.50 5.00 0.70 10.00	\$30.00 23.20 66.00 70.00 31.50 20.00 84.00	
1.00 80.00 3.00 7.00 7.00 4.00 120.00 7.00 1.00 1.00 5.79	acre ib. ib. appl acre appl ib. appl acre	\$30.00 0.29 22.00 10.00 4.50 5.00 0.70 10.00	\$30.00 23.20 66.00 70.00 31.50 20.00 84.00	
80.00 3.00 7.00 7.00 4.00 120.00 7.00 1.00 1.00 5.79	b. b. appl acre appl b. appl acre	0.29 22.00 10.00 4.50 5.00 0.70 10.00	23.20 66.00 70.00 31.50 20.00 84.00	
80.00 3.00 7.00 7.00 4.00 120.00 7.00 1.00 1.00 5.79	b. b. appl acre appl b. appl acre	0.29 22.00 10.00 4.50 5.00 0.70 10.00	23.20 66.00 70.00 31.50 20.00 84.00	
7.00 7.00 4.00 120.00 7.00 1.00 1.00 5.79	appi acre appi ib. appi acre	22.00 10.00 4.50 5.00 0.70 10.00	66.00 70.00 31.50 20.00 84.00	
7.00 4.00 120.00 7.00 1.00 1.00 5.79	acre appl lb. appl acre	4.50 5.00 0.70 10.00	31.50 20.00 84.00	
4.00 120.00 7.00 1.00 1.00 5.79	appl ib. appl acre	5.00 0.70 10.00	20.00 84.00	
7.00 1.00 1.00 5.79	appl acre	0.70 10.00	20.00 84.00	
7.00 1.00 1.00 5.79	appl acre	10.00		
1.00 1.00 5.79	acre		10 00	
1.00 1.00 5.79	acre	10.50		
1.00 5.79			73.50	
5.79		18.51	18.51	
		6.8	6.80	
~ 4 ~ ~		6.81	39.45	
	hour	5.70	136.76	
10.50	hour	5.70	59.83	
			\$669.56	
100.00	cut	9.00	\$900.00	
		5.00	30.00	
	-	\$17.00	\$1,230.00	
\$162.22	dol.	0.12	19.47	
		==		
	\$19.19	per cwt. of JALAP	ENOS	
			\$ 280.98	_
	Unit		Total	
;	======	===	========	
	Acre		\$168.74	
	Acre		75.00	
		22:	\$243.74	
			\$2,162.76	
			\$37.24	
	per cwt. of	LIAI APENOS		
	100.00 100.00 6.00 \$162.22	100.00 cwt 100.00 cwt. 6.00 hour \$162.22 dol. \$19.19	100.00 cwt 2.40 100.00 cwt. 0.60 6.00 hour 5.00 \$17.00 \$162.22 dol. 0.12 ==: \$19.19 per cwt. of JALAP Unit Acre Acre Acre Acre	100.00 cwt 2.40 240.00 100.00 cwt. 0.60 60.00 6.00 hour 5.00 30.00 \$17.00 \$1,230.00 \$162.22 dol. 0.12 19.47 \$1,919.02 \$19.19 per cwt. of JALAPENOS \$280.98 Unit Total Acre \$168.74 Acre 75.00 \$243.74 \$2,162.76

FRESH SPRING TOMATOES, IRRIGATED South Texas District (12)
1996 Projected Costs and Returns per Acre

Break-Even Price - Total Cost

1996 Projected Costs and Returns per Acre					V
GROSS INCOME Description	Quantity	Unit	\$ / Unit	Total	Your Estimate
TOMATOES	165.00		\$7.90	\$1,303.50	
Total GROSS Income				\$1,303.50	
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
PREHARVEST					
NITROGEN (DRY)	60.00		\$0.31	\$18.60	
PHOSPHATE	80.00		0.29	23.20	
HERBICIDE	1.00	acre	39.33	39.33	
ANNUAL IRRIGATION FEE	4.00		10.00	10.00	
IRRIGATION		appi	10.50	42.00	
SEED	2.00		28.00	56.00	
INSECTICIDE		appi	5.10	40.80	
PESTICIDE APPL		acre	4.50 5.43	40.50	
FUNGICIDE		appl	5.13	25.65 48.50	
Fuel & Lube - Machinery		acre	18.56 7.15	18.56 7.15	
Repairs - Machinery		acre hour	7.15 6.81	7.15 31.08	
Labor - Machinery		hour	5.70	56.99	
- Other		hour	5.70 5.70	34.19	
- Irrigation	6.00	HOU	5.70	34.19	
Total PREHARVEST HARVEST			_	\$444.04	
HARVESTING	165.00	crtn	1.30	\$214.50	
PACK & COUNT	165.00	crtn	2.70	445.50	
MARKETING	165.00	crtn	0.40	66.00	
Total HARVEST			\$4.40	\$726.00	
Interest - OC Borrowed	\$192.94	dol.	0.12	23.15	
Total VARIABLE COST			_	\$1,193.20	
Break-Even Price - Total Variable Cost		\$7.23	per crtn. of TOM	MATOES	
GROSS INCOME minus VARIABLE COST				\$110.30	
FIXED COST Description		Unit		Total	
		======		:::::::::::::::::::::::::::::::::::::::	
Machinery and Equipment		Acre		\$100.16	
Land		Acre		90.00	
		•	=	=======================================	
Total FIXED Cost				\$190.16	
Total of ALL Cost				\$1,383.36	
NET PROJECTED RETURNS PER ACRE				(\$79.86	·

Information presented is prepared solely as a general guide and is not intended to recognize or predict the costs and returns from any one particular farm or ranch operation. These projections were collected and developed by staff members of the Texas Agricultural Extension Service and approved for publication.

\$8.38 per crtn. of TOMATOES

WATERMELONS, DRYLAND South Texas District (12) 1996 Projected Costs and Returns per Acre

GROSS INCOME Description	Quantity		\$ / Unit ====================================	Total	Your Estimate
WATERMELONS DRYLAND	100.00	cwt	\$5.00	\$500.00	
Total GROSS Income			25	\$500.00	
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
PREHARVEST	=======================================	222222		========	
SEED	3.00	ib.	\$5.00	\$15.00	
NITROGEN (LIQ)	40.00		0.70	28.00	
PHOSPHATE	60.00		0.29	17.40	
HERBICIDE		acre	48.00	48.00	
BEE RENT		hive	40.00	40.00	
INSECTICIDE	4.00	appl	8.00	32.00	
FUNGICIDE	4.00	appi	7.00	28.00	
PESTICIDE APPL		acre	4.50	18.00	
Fuel & Lube - Machinery		acre	10.99	10.99	
Repairs - Machinery		acre	7.00	2.97	
Labor - Machinery		Hour	5.70	37.05	
- Other		Hour	5.70	57.00	
Total PREHARVEST HARVEST			*****	\$334.41	
HARVEST & SELL	100.00	cwt.	3.00	300.00	
Total HARVEST				\$300.00	
Interest - OC Borrowed	\$89.45	Dol.	0.12	10.73	
Total VARIABLE COST				\$645.14	
Break-Even Price - Total Variable Cost		\$6.45 p	per cwt. of WATE	RMELON	
GROSS INCOME minus VARIABLE COST				(\$145.14)	
FIXED COST Description		Unit		Total	
Machinery and Equipment	:		===		
Land •		Acre		\$38.75	
		Acre	221	50.00	
Fotal FIXED Cost				\$88.75	
Total of ALL Cost				\$733.89	
NET PROJECTED RETURNS PER ACRE				(\$233.89)	
Break-Even Price - Total Cost	\$7.34	per cwt. c	of WATERMELON	N	

Information presented is prepared solely as a general guide and is not intended to recognize or predict the costs and returns from any one particular farm or ranch operation. These projections were collected and developed by staff members of the Texas Agricultural Extension Service and approved for publication.

WATERMELONS, IRRIGATED South Texas District (12)

1996 Projected Costs and Returns per Acre

	Quantity	Unit	\$ / Unit	Total	Your Estimate
WATERMELON IRRI.	150.00	cwt	\$6.00	\$900.00	=====
otal GROSS Income			:	\$900.00	
ARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
PREHARVEST			:======================================		
PHOSPHATE	60.00	ib.	\$0.29	\$17.40	
POTASH	20.00		0.13	2.60	
BEE RENT	1.00	hive	40.00	40.00	
SEED	0.75	b .	90.00	67.50	
HERBICIDE	1.00	acre	48.00	48.00	
NITROGEN (LIQ)	80.00	Ь.	0.70	56.00	
ANNUAL IRRIGATION FEE			10.00	10.00	
IRRIGATION		appl	10.50	42.00	
INSECTICIDE		appl	8.00	40.00	
PESTICIDE APPL		acre	4.50	22.50	
FUNGICIDE		abbl	7.00	28.00	
Fuel & Lube - Machinery		acre	13.86	13.86	
Repairs - Machinery Labor - Machinery		acre	4.15	3.85	
Labor - Machinery - Other	10.00	hour	6.81 5.70	19.89 56.99	
- Imigation		hour	5.70 5.70	34.19	
Total PREHARVEST				\$502.78	
HARVEST HARVEST & SELL	150.00	cwt.	3.00	\$450.00	
Total HARVEST			_	\$450.00	
Interest - OC Borrowed	\$115.19	Dol	0.12	13.82	
otal VARIABLE COST				\$966.60	
Break-Even Price - Total Variable Cost		\$6.44	per cwt. of WAT	ERMELON	
GROSS INCOME minus VARIABLE COST				(\$66.60)	
IXED COST Description		Unit	_	Total	
Machinery and Equipment		Acre	_		
Machinery and Equipment		Acre		\$51.61 50.00	
Quality Put		~~	<u></u>	30.00 =========	
otal FIXED Cost			_	\$101.61	
otal of ALL Cost				\$1,068.21	
IET PROJECTED RETURNS PER ACRE				(\$168.21)
Break-Even Price - Total Cost		\$7.12	per cwt. of WAT	ERMELON	

GRAPEFRUIT ESTABLISHMENT - YEAR 1 (145 TREES/ACRE) South Texas District (12) 1996 Projected Costs and Returns per Acre

GROSS INCOME Description	Quantity	Unit	\$ / Unit	Total	Your Estimate
					2222222
-WARNING- No gross receipts					
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
YEAR 1	=======================================	======	=======================================	=========	
HERB., PREEMERGE					
HERBICIDE APPL		appl	30.00	\$60.00	
LAND PREPILEVEL		appl	14.00	28.00	
TREE		acre	150.00	150.00	
LAYOUT/PLANT	145.00		5.50	797.50	
TREE INSURANCE	145.00		1.25	181.25	
ANNUAL IRRIGATION FEE	1.00	acre	33.83	33.83	
IRRIGATION @ 1/2 ACRE FT/IRR	7.00	::	10.00	10.00	
NITROGEN	7.00 35.00		10.50	73.50	
FERTILIZER APPL		appi	0.63	22.05	
MITICIDE			3.00	12.00	
INSECTICIDE	0.60 0.60		8.28	4.97	
INSECTICIDE APPL		appl dr	9.70	5.82	
SPOT HERBICIDE		appr	8.00	16.00	
TREE WRAP	145.00		17.00	17.00	
Fuel & Lube - Machinery		acre	0.85	123.25	
Repairs - Machinery			2.26	2.26	
Labor - Machinery		acre	0.50	0.50	
- Other		hour	6.81	7.45	
- Imigation	12.00		5.70	68.38	
- migadon	12.00	nour	5.70	68.38	
Total YEAR 1			_	\$1,682.14	
Interest - OC Borrowed	\$1,314.56	Dol.	0.12	157.75	
Total VARIABLE COST			-	\$4,000,00	
				\$1,839.88	
·					
GROSS INCOME minus VARIABLE COST				(\$1,839.88)	
FIXED COST Description		Unit		Total	
MISC ADMIN. 0/H CITRUS		acre	==	#7.60	
Machinery and Equipment		Acre		\$7.50	
Land		Acre		66.98	
		ALIE		70.00	
Total FIXED Cost				\$ 144.48	
Total of ALL Cost				\$1,984.36	
NET PROJECTED RETURNS PER ACRE				(\$1,984.36)	

Not to be Used without Updating after March 1, 1996.

GRAPEFRUIT ESTABLISHMENT - YEAR 2 (145 TREES / ACRE)
South Texas District (12)
1996 Projected Costs and Returns per Acre

GROSS INCOME Description Quantity Unit \$ / Unit Total Estimate

-WARNING- No gross receipts

VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total
YEAR 2			.======================================	
TREE REPLACEMENT	1 00	tree	8.00	\$8.00
TREE INSURANCE		acre	61.50	61.50
ANNUAL IRRIGATION FEE	1.00	00.0	10.00	10.00
IRRIGATION @ 1/2 ACRE FT/IRR	7.00	irri	10.50	73.50
NITROGEN	70.00		0.63	44.10
FERTILIZER APPL		appl	3.00	12.00
HERB., PREEMERGE		appl	30.00	60.00
HERBICIDE APPL		appl	14.00	28.00
MITICIDE	1.00		8.28	8.28
INSECTICIDE	1.20		9.70	11.64
INSECTICIDE APPL		appl	8.00	16.00
SPOT HERBICIDE		acre	17.50	17.50
Fuel & Lube - Machinery	1.00	acre	1.69	1.69
Repairs - Machinery	1.00	acre	0.36	0.36
Labor - Machinery	0.82	hour	6.81	5.59
- Other	14.00	hour	5.70	79.78
- Irrigation	10.50	hour	5.70	59.83
Total YEAR 2				\$497.77
Interest - OC Borrowed	\$337.39	dol.	0.12	40.49
Total VARIABLE COST				\$538.26
GROSS INCOME minus VARIABLE COST				(\$538.26
FIXED COST Description		Unit		Total
MISC ADMIN. O/H CITRUS		Acre	=:	7.50
Machinery and Equipment		Acre		50.24
Land		Acre		70.00
Perennial Crop		Acre		97.80
· • • • • • • • • • • • • • • • • • • •			=:	
Total FIXED Cost				\$225.54
Total of ALL Cost				\$763.80
NET PROJECTED RETURNS PER ACRE				(\$763.80)

Projections for Planning Purposes Only Not to be Used without Updating after March 1, 1996.

Break-Even Price - Total Variable Cost

GRAPEFRUIT ESTABLISHMENT - YEAR 3 (145 TREES / ACRE) South Texas District (12) 1996 Projected Costs and Returns per Acre

GROSS INCOME Description	Quantity	Unit	\$ / Unit	Total	Your Estimate
GRAEFRUIT		ton	\$135.00	\$270.00	
Total GROSS Income			:	\$270.00	
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
::::::::::::::::::::::::::::::::::::::		********	=======================================	**********	
TREE INSURANCE	10	acre	\$62.00	\$62.00	
NITROGEN	74.0		0.31	22.94	
FERTILIZER APPL		appi	3.00	9.00	
HERB., SELECTIVE		qt.	3.60 3.60	18.00	
HERB., SELECTIVE		ID.	3.20	16.00	
MITICIDE		gt.	8.28		
INSECTICIDE	2.0	•		16.56	
INSECTICIDE APPL			9.70	19.40	
INSECTICIDE		appl	21.75	65.25	
ANNUAL IRRIGATION FEE	0.5	qt.	38.76	19.38	
CITRUS OIL			10.00	10.00	
		gal	4.60	23.00	
IRRIGATION	7.0		10.50	73.50	
CONTACT HERB.		acre	17.50	17.50	
HERBICIDE APPL		appl	8.00	8.00	
FUNGICIDE		b.	2.30	13.80	
Fuel & Lube - Machinery		acre	1.13	1.13	
Repairs - Machinery		acre	0.24	0.24	
Labor - Machinery		hour	6.81	3.73	
- Other	12.00	hour	5.70	68.38	
- Irrigation	9.00	hour	5.70	51.29	
Total YEAR 3			_	\$519.10	·
Interest - OC Borrowed	\$ 319.82	dol.	0.12	38.38	
otal VARIABLE COST			-	\$557.48	·
Break-Even Price - Total Variable Cost		\$278.74	per ton of GRA	PEFRUIT	
GROSS INCOME minus VARIABLE COST				(\$287.48)	
FIXED COST Description		Unit		Total	
MISC ADMIN. 0/H CITRUS	•	Acre	==	\$7.50	
Machinery and Equipment		Acre			
Land		Acre		70.00	
Perennial Crop		Acre		106.73	
otal FIXED Cost			==	\$216.61	
otal of ALL Cost				\$774.09	
NET PROJECTED RETURNS PER ACRE				(\$504.09))
Book From Brice - Tutul Mariable Oc.					

Information presented is prepared solely as a general guide and is not intended to recognize or predict the costs and returns from any one particular farm or ranch operation. These projections were collected and developed by staff members of the Texas Agricultural Extension Service and approved for publication.

\$387.04 per ton of GRAPEFRUIT

B-1241 (C12)

Your

Not to be Used without Updating after March 1, 1998.

GRAPEFRUIT ESTABLISHMENT - YEAR 4 (145 TREES / ACRE) South Texas District (12) 1996 Projected Costs and Returns per Acre

GROSS INCOME Description	Quantity	Unit	\$ / Unit	Total	Your Estimate
GRAPEFRUIT		ton	\$135.00	\$540.00	
Total GROSS Income			=	\$540.00	
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
PREHARVEST	200000000000				
TREE INSURANCE	1.0	acre	\$ 69.75	\$ 69.75	
NITROGEN	50.0		0.31	15.50	
FERTILIZER APPL		appl	3.00	9.00	
HERB., SELECTIVE		gt.	3.60	18.00	
HERB., SELECTIVE		b.	3.20	16.00	
INSECTICIDE		qt.	9.70	19.40	
INSECTICIDE		qt.	38.76	19.38	
CITRUS OIL	10.0		4.60	46.00	
INSECTICIDE APPL		appl	21.75	65.25	
MITICIDE		qL	8.28	33.12	
ANNUAL IRRIGATION FEE		•	10.00	10.00	
IRRIGATION	7.0	imi	10.50	73.50	
CONTACT HERB.	2.0	acre	17.50	35.00	
HERBICIDE APPL	2.0	appl	8.00	16.00	
FUNGICIDE	6.0	Ь.	2.30	13.80	
Fuel & Lube - Machinery	1.0	acre	2.26	2.26	
Repairs - Machinery		acre	0.54	0.54	
Labor - Machinery		hour	6.81	8.63	
- Other		hour	5.70	68.38	
- Irrigation	9.0	hour	5.70 —	51.29	. ———
Total PREHARVEST				\$590.80	
Interest - OC Borrowed	\$390.99	dol.	0.12	46.92	
Total VARIABLE COST				\$637.72	
Break-Even Price - Total Variable Cost		\$159.43	per ton of GRAP	EFRUIT	
GROSS INCOME minus VARIABLE COST				(\$97.72)
FIXED COST Description		Unit		Total	
MISC ADMIN. 0/H CITRUS		Acre	-	\$ 7.50	
Machinery and Equipment		Acre		53.04	
Land		Acre		70.00	
Perennial Crop		Acre		128.84	
Total FIXED Cost			=:	\$259.38	-
Total of ALL Cost				\$897.10	
NET PROJECTED RETURNS PER ACRE				(\$357.10)
Break-Even Price - Total Variable Cost		\$224.28	per ton of GRAP	EFRUIT	

Projections for Planning Purposes Only Not to be Used without Updating after March 1, 1996.

B-1241 (C12)

GRAPEFRUIT , MATURE GROVE (145 TREES/ACRE)
South Texas District (12)
1996 Projected Costs and Returns per Acre

GROSS INCOME Description	Quantity	Unit	\$ / Unit ====================================	Total	Your Estima
GRAPEFRUIT	22.00		\$135.00	\$2,970.00	=====
Total GROSS Income			23	\$2,970.00	
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
PREHARVEST	222222222	222222			
TREE INSURANCE	1 00	acre	677 50		
TREE HEDGING		acre	\$77.50 60.00	\$77.50	
NITROGEN	150.00			60.00	
FERTILIZER APPL			0.63	94.50	
HERB., SELECTIVE	3.00	appl	3.00	9.00	
MITICIDE	10.00	dr	3.60	36.00	
INSECTICIDE	4.00	qt.	8.28	33.12	
	4.00		9.70	38.80	
CITRUS OIL			4.60	92.00	
INSECTICIDE APPL	4.00	appl	21.75	87.00	
INSECTICIDE	4.00	qt	38.76	155.04	
ANNUAL IRRIGATION FEE		•	10.00	10.00	
IRRIGATION	12.00	Appl	10.50	126.00	
CONTACT HERB.	2.00	acre	17.50		
HERBICIDE APPL	2.00	anni	8.00	35.00	
FUNGICIDE	6.00			16.00	
Fuel & Lube - Machinery		acre	2.30	13.80	
Repairs - Machinery		acre	2.26	2.26	
Labor - Machinery			0.56	0.56	
- Other		hour	6.81	8.63	
- Irrigation	12.00		5.70	68.38	
•	9.00	hour	5.70	51.29 ========	
Total PREHARVEST				\$1,014.88	
Interest - OC Borrowed	637.34	dol.	0.12	76.48	
otal VARIABLE COST			==	1091.36	
Break-Even Price - Total Variable Cost		\$40.61 -			
GROSS INCOME minus VARIABLE COST		Ψ-9.01 μ	er ton of GRAPE	rkull	
				\$1,878.64	
IXED COST Description	_	Unit		Total	
MISC ADMIN. 0/H CITRUS	•		==:		
Machinery and Equipment		Acre		\$7.50	
Land		Acre		55.61	
Perennial Crop		Acre		70.00	
· oronandi Orop		Acre		487.75	
otal FIXED Cost			22:	\$620.86	
otal of ALL Cost					
				\$1,712.22	
ET PROJECTED RETURNS PER ACRE				\$1,257.78	
Break-Even Price - Total Variable Cost		\$77.83 p	er ton of GRAPE	FRUIT	

ORANGES ESTABLISHMENT - YEAR 1 (200 TREES/ACRE) South Texas District (12) 1996 Projected Costs and Returns per Acre

					Your
GROSS INCOME Description	Quantity	Unit	\$ / Unit	Total	Estimate
222222222222222222222222222222222222222	**********	======	=======================================	:2222222222	22222222
-WARNING- NO gross receipts					
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
222222222222222222222222222222		=======	=======================================	=========	
YEAR 1					
HERB., PREEMERGE	1.4	qt.	\$30.00	\$42.00	
LAND PREP./LEVEL	1.0	acre	150.00	150.00	
TREE	200.0		5.50	1100.00	
LAYOUT/PLANT	200.0	tree	1.25	250.00	
TREE INSURANCE		acre	19.38	19.38	
ANNUAL IRRIGATION FEE			10.00	10.00	
IRRIGATION	1.0	appl	10.50	10.50	
NITROGEN	26.0		0.37	9.62	
FERTILIZER APPL		appl	3.00	12.00	
MITICIDE		qt.	8.28		
INSECTICIDE				6.62	
INSECTICIDE APPL		qt.	9.70	7.76	
SPOT HERBICIDE		appl	8.00	16.00	
HERBICIDE APPL		acre	17.00	17.00	
		appl	14.00	28.00	
TREE WRAP	200.0		0.85	170.00	
Fuel & Lube - Machinery		acre	2.26	2.26	
Repairs - Machinery		acre	0.53	0.53	
Labor - Machinery		hour	6.81	7.45	
- Other		hour	5.70	68.38	
- Imigation	12.0	hour	5.70	68.38	
			=		
Total YEAR 1				\$1,995.88	
Interest - OC Borrowed	\$1,569.16	Dol.	0.12	188.30	
	-		=	=========	
Total VARIABLE COST				\$2,184.18	
				42,700	
GROSS INCOME minus VARIABLE COST				(\$1,804.22)	\
				(41,004.22)	
FIXED COST Description		Unit		Total	
		======		, v.a. :========	
MISC ADMIN. 0/H CITRUS		Acre	-	\$7.50	
Machinery and Equipment		Acre		\$7.50 66.98	
Land					
Lai fü		Acre		70.00	
Total FIVED Coat			=		
Total FIXED Cost				\$144.48	
-					
Total of ALL Cost				\$2,328.66	
NET PROJECTED RETURNS PER ACRE				(\$1,946.49)	

ORANGES ESTABLISHMENT - YEAR 2 (200 TREES/ACRE)
South Texas District (12)
1996 Projected Costs and Returns per Acre

GROSS INCOME Description	Quantity	Unit	\$ / Unit	Total	Your Estimate
-WARNING- NO gross receipts VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
YEAR 2	22222222	======	:=============	:#22222222	
TREE REPLACEMENT	3.00	tree	\$8.00	\$24.00	
TREE INSURANCE		acre	35.24	35.24	
ANNUAL IRRIGATION FEE	1.00	40.0	10.00	10.00	
IRRIGATION	1.00	appl	10.50	10.50	
NITROGEN	51.00		0.37	18.87	
FERTILIZER APPL	4.00	appi	3.00	12.00	
HERB., PREEMERGE	1.33		30.00	39.90	
MITICIDE	1.40		8.28	11.59	
INSECTICIDE	1.60	qt.	9.70	15.52	
INSECTICIDE APPL		appl	8.00	16.00	
CONTACT HERB		acre	17.50	17.50	
HERBICIDE APPL	1.00	appl	8.00	8.00	
Fuel & Lube - Machinery		acre	1.69	1.69	
Repairs - Machinery	1.00	acre	0.42	0.42	
Labor - Machinery	0.82		6.81	5.59	
- Other	14.00		5.70	79.78	
- Irrigation	12.00	hour	5.70	68.38	
Total YEAR 2			==	\$374.98	
Interest - OC Borrowed	\$254.99	dol.	0.12	30.60	
Total VARIABLE COST			==	\$405.58	
				\$405.56	
GROSS INCOME minus VARIABLE COST				(\$410.38)	
FIXED COST Description		Unit	21	Total	
MISC ADMIN. 0/H CITRUS		acre		\$7.50	
Machinery and Equipment		Acre		50.24	
Land		Acre		70.00	
Perennial Crop		Acre		117.81	
			==	========	
Total FIXED Cost				\$245.55	
Total of ALL Cost				\$651.13	
NET PROJECTED RETURNS PER YEAR				(\$632.37)	

ORANGES ESTABLISHMENT - YEAR 3 (200 TREES/ACRE) South Texas District (12) 1998 Projected Costs and Returns per Acre

GROSS INCOME Description	Quantity	Unit	\$ / Unit	Total	Your Estimate
ORANGES	3.00		\$150.00	\$450.00	
Total GROSS income				\$450.00	
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
======================================	=========	=======================================	:222222222	:::::::::::::::::::::::::::::::::::::::	
TREE INSURANCE	1.00	acre	\$46.99	\$46.99	
NITROGEN	102.00		0.37	37.74	
FERTILIZER APPL		appl	3.00	9.00	
HERB., SELECTIVE	10.00		3.60	36.00	
MITICIDE	2.75	•	8.28	22.77	
INSECTICIDE	2.75		9.70	26.68	
INSECTICIDE APPL	3.00	appi	21.75	65.25	
CITRUS OIL	7.00	gal	4.60	32.20	
ANNUAL IRRIGATION FEE		•	10.00	10.00	
IRRIGATION	1.00	appi	10.50	10.50	
CONTACT HERB.	1.00	acre	17.50	17.50	
HERBICIDE APPL	1.00	appi	8.00	8.00	
INSECTICIDE	0.70	qt.	38.76	27.13	
Fuel & Lube - Machinery	1.00	acre	1.13	1.13	
Repairs - Machinery	1.00	acre	0.25	0.25	
Labor - Machinery	0.55	hour	6.81	3.73	
- Other	12.00	hour	5.70	68.38	
- Irrigation	9.00	hour	5.70	51.29	
Total YEAR 3				\$471.94	
Interest - OC Borrowed	\$266.93	dol.	0.12	32.03	
Total VARIABLE COST			-	\$503.97	•
Break-Even Price - Total Variable Cost		\$167.99	per ton of ORAN	IGES	
GROSS INCOME minus VARIABLE COST				(\$53.97))
FIXED COST Description		Unit		Total	
		======	=		
MISC ADMIN. 0/H CITRUS		Acre		\$7.50	
Machinery and Equipment		Acre		33.49	
Land		Acre		70.00	
Perennial Crop		Acre		151.67	
			=		
Total FIXED Cost				\$262.66	
Total of ALL Cost				\$766.63	
NET PROJECTED RETURNS PER ACRE				(\$316.63)
Break-Even Price - Total Variable Cost		\$255.54	per ton of ORAN	NGES	

Information presented is prepared solely as a general guide and is not intended to recognize or predict the costs and returns from any one particular farm or ranch operation. These projections were collected and developed by staff members of the Texas Agricultural Extension Service and approved for publication.

Break-Even Price - Total Variable Cost

ORANGES ESTABLISHMENT - YEAR 4 (200 TREES/ACRE)
South Texas District (12)
1996 Projected Costs and Returns per Acre

GROSS INCOME Description	Quantity	Unit	\$ / Unit	Total	Your Estimate
ORANGES	5.00		\$150.00	\$750.00	
Total GROSS Income			=	\$750.00	
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
YEAR 4					
NITROGEN	50.00	ib.	\$0.37	\$ 18.50	
FERTILIZER APPL	3.00	appl	3.00	9.00	
TREE INSURANCE		acre	52.87	52.87	
HERB., SELECTIVE	10.00	at.	3.60	36.00	
MITICIDE	5.50		8.28	45.54	
INSECTICIDE	2.75		9.70	26.68	
CITRUS OIL	14.00		4.60	64.40	
INSECTICIDE APPL		appl	21.75	65.25	
ANNUAL IRRIGATION FEE	0.00		10.00	10.00	
IRRIGATION	1.00	appl	10.50	10.50	
CONTACT HERB.		acre	17.50	35.00	
HERBICIDE APPL		appl	8.00	16.00	
INSECTICIDE	0.70		38.76	27.13	
Fuel & Lube - Machinery		acre	2.26	2.26	
Repairs - Machinery		acre	0.56	0.56	
Labor - Machinery		hour	6.81	8.58	
					-
- Other - Irrigation		hour hour	5.70 5.70	65.53 51.29	
Total YEAR 4				\$544.86	
Interest - OC Borrowed	\$334.49	dol.	0.12	40.14	
Total VARIABLE COST				\$585.00	·
Break-Even Price - Total Variable Cost		\$117.00 g	per ton of ORAN	GES	
GROSS INCOME minus VARIABLE COST				\$165.00	
FIXED COST Description		Unit	=:	Total	
MISC ADMIN. 0/H CITRUS		Acre	- -	\$7.50	
Machinery and Equipment		Acre		55.61	
Land		Acre		70.00	
Perennial Crop				70.00 169.08	
гетелия Стор		Acre	=:		:
Total FIXED Cost				\$302.19	
Total of ALL Cost				\$887.19	
NET PROJECTED RETURNS PER ACRE				(\$137.19)

Information presented is prepared solely as a general guide and is not intended to recognize or predict the costs and returns from any one particular farm or ranch operation. These projections were collected and developed by staff members of the Texas Agricultural Extension Service and approved for publication.

\$177.44 per ton of ORANGES

Not to be Used without Updating after March 1, 1996.

ORANGES - MATURE GROVE (200 TREES/ACRE) South Texas District (12) 1996 Projected Costs and Returns per Acre

GROSS INCOME Description	Quantity	Unit	\$ / Unit	Total	Your
ORANGES	18.00	ton	150.00	2,700.00	
Total GROSS Income			:	\$2,700.00	
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
AVERAGE YEAR - MATURE GROVE		200000	=======================================	222222222	
PREHARVEST					
NITROGEN	150.00	ib.	0.37	\$ 55.50	
FERTILIZER APPL	3.00	appl	3.00	9.00	
TREE INSURANCE		acre	85.00	85.00	
HERB., SELECTIVE	10.00	qt.	3.60	36.00	
INSECTICIDE	5.50		9.70	53.35	
CITRUS OIL	27.00	gal	4.60	124.20	
INSECTICIDE APPL		appl	21.75	87.00	
ANNUAL IRRIGATION FEE			10.00	10.00	
IRRIGAION	7.00	Appl	10.50	73.50	
CONTACT HERB	2.00	acre	17.50	35.00	
HERBICIDE APPL	2.00	appi	8.00	16.00	
INSECTICIDE	1.40	qt.	38.76	54.26	
MAKE & TAKEDOWN DITCHES		Acre	56.50	56.50	
Fuel & Lube - Machinery	1.00	Acre	4.00	4.00	
Repairs - Machinery	1.00	Acre	2.00	2.00	
Labor - Machinery	1.50	Hour	6.81	10.22	
- Other	16.00	Hour	5.70	91.18	
- Irrigation	10.50	Hour	5.70	59.83	
Total PREHARVEST			=	\$862.54	
Interest - OC Borrowed	535.90	Doi.	0.12	64.31	
Total VARIABLE COST			=	\$926.85	
				V	
Break-Even Price - Total Variable Cost		\$51.49	per ton of ORA	NGES	
GROSS INCOME minus VARIABLE COST				\$1,773.15	
FIXED COST Description		Unit	_	Total	
Misc Admin & Overhead	1 00	acre	 7.50	7.50	
Machinery and Equipment (Depr)		Acre	53.00	53.00	
Concrete Irrigation Pipe	\$15.38		15 Yr Recov	1.03	
22" Poly Pipe		/Acre	15 Yr Recov	1.03	
18" T		/Acre		0.31	
TCM Reward Sign		/Acre		0.03	
Land	\$1,200.00			80.00	
Perennial Crop .	\$2,377.38			237.74	
т втепника Стор .	4 ∠,311.30	//\cit		231.14 201222222	
Total FIXED Cost				\$381.37	
Total of ALL Cost				\$1,308.22	
NET PROJECTED RETURNS - Per Acre				\$1,391.78	
Brank From Bring Total Cont	*7 0.00		-4.00411050		

Information presented is prepared solely as a general guide and is not intended to recognize or predict the costs and returns from any one particular farm or ranch operation. These projections were collected and developed by staff members of the Texas Agricultural Extension Service and approved for publication.

\$72.68 per ton of ORANGES

Break-Even Price - Total Cost

PLANT CANE, IRRIGATED
South Texas District (12)
1996 Projected Costs and Returns per Acre

GROSS INCOME Description	Quantity	Unit	\$ / Unit	Total	Your Estimate
Net Tons SUGAR CANE (PAYMENT TONS)	50.00 54.00	tons	\$ 16.50	\$891.00	
Total GROSS Income			22:	\$891.00	
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
LAND PREPARATION	1.00	acre	\$15.00	\$15.00	
DISC	3.00	appl	12.75	38.25	
ROW OR BED	1.00	acre	3.00	3.00	
PREPLANT LIQ. FERT. (13-37-0)	20.00	gal	1.38	27.60	
FERTILIZER APPLICATION	1.00	acre	5.00	5.00	
PLANT CANE (SEED)	5.00	tons	16.00	80.00	
PLANT CANE (LABOR)	1.00	acre	100.00	100.00	
PLANT CANE (COVER SEED)	1.00	асте	3.00	3.00	
HERBICIDE 1/	1.00	appl	47.30	47.30	
HERBICIDE APPLICATION	1.00	appl	5.00	5.00	
DITCH & KNOCK DOWN	2.00	appl	3.00	6.00	
ANNUAL IRRIGATION FEE			10.00	10.00	_
IRRIGATION (WATER)	13.00	appi	10.50	136.50	
CULTIVATE	2.00	appl	2.50	5.00	
SCOUTING	1.00	acre	9.00	9.00	
INSECTICIDE SPRAY 2/	3.00	appl	9.03	27.09	
INSECTICIDE (AERIAL) APPL	3.00	appl	2.75	8.25	
POST HARVEST - RAKE AND BURN	1.00	appl	10.00	10.00	
Fuel & Lube - Machinery	1.00	acre	1.32	1.32	
Repairs - Machinery	1.00	асте	0.30	0.30	
Labor - Machinery	0.67	hour	6.81	4.56	
- Other	16.00		5.70	91.18	
- Irrigation	13.00	hour	5.70	74.08	
INTEREST - Operating Capital	353.71	dol.	12.00%	42.45	
Total VARIABLE COST				\$749.87	
Break-Even Price , Total Variable Cost \$		13.89	per ton of SUGAR	CANE	
GROSS INCOME minus VARIABLE COST				\$141.13	
FIXED COST Description		Unit		Total	
MACHINERY AND EQUIPMENT	1.00	acre	3.94	**************************************	
INT. GRNDG RTS (\$72.00)	\$72.00	dol	12.00%	8.64	
LAND		Acre	100.00	100.00	
Total FIXED Cost					
				\$112.58	
Total of ALL Cost				\$862.45	
NET PROJECTED RETURNS PER ACRE				\$28.55	
Break-Even Price, Total Costs =		\$15.97	per ton of SUGAR	CANE	

RATOON CANE, IRRIGATED
South Texas District (12)
1996 Projected Costs and Returns per Acre

Break - Even Price, Total Cost

1996 Projected Costs and Returns per Acre					Your
GROSS INCOME Description	Quantity	Unit	\$ / Unit	Total	Estimate
Net Tons	37.00	tons	===========	=========	=====
SUGAR CANE (PAYMENT TONS)		tons	\$16.50	\$742.50	
Total GROSS Income				\$742.50	
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
PREHARVEST	========	======			
FERTILIZER (N-32 LIQUID)	50.00	nal	0.70	\$35.00	
/ FERTILIZER APPLICATION		appl	5.00	10.00	
ANNUAL IRRIGATION FEE		аррі	10.00	10.00	
✓ IRRIGATION TUBING		ft	0.40	13.20	
✓ IRRIGATION (WATER)	00.00	appl	10.50	73.50	
FOLIAR IRON	1.25		0.25	0.31	
FOLIAR IRON APPLICATION		appl	3.75		
/ HERBICIDE Atrazine				0.94	
HERBICIDE Prowl	5.00		3.50	17.50	
INSECTICIDE Guthion	5.00		7.00	35.00	
	9.00		3.50	31.50	
INSECTICIDE (AERIAL) APPL		appl	3.75	11.25	
✓ SCOUTING	1.00	acre	9.00	9.00	
POST HARVEST - RAKE AND BURN	1.00	appl	10.00	10.00	/22 =======
Fuel & Lube - Machinery	1.00	acre	10.66	10.66	-
Repairs - Machinery	1.00	acre	3.36	3.36	
Labor - Machinery	3.95	hour	6.50	25.68	X
- Irrigation	7.00	hour	5.70	39.90	
INTEREST - Operating Capital	168.40		12.00%	20.21	
Total VARIABLE COST			y la retoline tarte.	\$357.00	
Break-Even Price, Total Variable Cost		\$7.93 p	er ton of SUGAR	R CANE	
GROSS INCOME minus VARIABLE COST				\$385.50	_
FIXED COST Description	Quantity	Unit	\$/Unit	Total	
MACHINERY AND EQUIPMENT		acre	3.94	\$3.94	
INT. GRINDING RIGHTS (\$72.00)	\$72.00		12.00%	8.64	
LAND		acre	100.00	100.00	
Total FIXED Cost			SHINGE CHANNED	\$112.58	
Total of ALL Cost				\$469.58	
NET PROJECTED RETURNS PER ACRE				\$272.92	
					95

Information presented is prepared solely as a general guide and is not intended to recognize or predict the costs and returns from any one particular farm or ranch operation. These projections were collected and developed by staff members of the Texas Agricultural Extension Service and approved for publication.

\$10.44 per ton of SUGAR CANE

BERMUDA TYPE GRASSES , ESTABLISHMENT , IRRIGATED South Texas District (12) 1996 Projected Costs and Returns per Acre

GROSS INCOME Description	Quantity	Unit \$ / Unit		Total	Your Estimate
HAY	3.00	ton	\$80.00	\$240.00	
Total GROSS Income			25	\$240.00	
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
PREHARVEST	222222222	======			
SPRIGGING	1 00	acre	125.00	6405.00	
HERBICIDE		appl	3.16	\$125.00	
ANNUAL IRRIGATION FEE	2.00	appi	10.00	6.32	
IRRIGATION	3 00	appi	10.50	10.00	
NITROGEN (DRY)	150.00	gppi	0.31	31.50	
Fuel & Lube - Machinery		acre	9.22	46.50	
Repairs - Machinery		acre	9.22 3.96	9.22	
Labor - Machinery		hour		3.96	
- Irrigation		hour	6.81	19.97	
•	4.50	nour	5.70	25.64	
Total PREHARVEST HARVEST				\$278.11	
MOW ,RAKE ,BALE	100.00	bale	0.65	\$65.00	
CUSTOM HAULING	100.00		0.40	40.00	
Total HARVEST			\$1.05	\$105.00	
Interest - OC Borrowed	\$162.21	Dol.	0.12	19.47	
otal VARIABLE COST			==	\$402.57	
Break-Even Price - Total Variable Cost		\$134 .1	19 per ton of HAY		
GROSS INCOME minus VARIABLE COST				(\$162.57)	
IXED COST Description	_	Unit		Total	
Machinery and Equipment		Acre	== ===	25525555	
Land		Acre		\$55.24 70.00	
		AU C	201	70.00	
otal FIXED Cost				\$125.24	
otal of ALL Cost				\$527.81	
ET PROJECTED RETURNS PER ACRE				(\$287.81)	
Break-Even Price - Total Variable Cost		\$175.9	4 per ton of HAY		

BERMUDA TYPE GRASSES, ESTABLISHMENT, IRRIGATED South Texas District (12) 1996 Projected Costs and Returns per Acre

	Quantity		Jnit \$ / Unit	Total	Your Estimate			
HAY		ton	\$80.00	\$240.00				
Total GROSS Income			21	\$240.00				
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total				
PREHARVEST								
SPRIGGING	1.00	acre	125.00	\$125.00				
HERBICIDE	2.00	appi	3.16	6.32				
ANNUAL IRRIGATION FEE			10.00	10.00				
IRRIGATION	3.00	appl	10.50	31.50				
NITROGEN (DRY)	150.00		0.31	46.50				
Fuel & Lube - Machinery		acre	9.22	9.22				
Repairs - Machinery		acre	3.96	3.96				
Labor - Machinery	2.93	hour	6.81	19.97				
- Irrigation	4.50	hour	5.70	25.64				
Total PREHARVEST HARVEST				\$278.11				
MOW ,RAKE ,BALE	100.00	bale	0.65	\$65.00				
CUSTOM HAULING	100.00		0.40	40.00				
Total HARVEST			\$1.05	\$105.00				
Interest - OC Borrowed	\$162.21	Doi.	0.12	19.47				
Total VARIABLE COST								
Break-Even Price - Total Variable Cost		\$ 134.	19 per ton of HAY					
GROSS INCOME minus VARIABLE COST				(\$162.57)				
FIXED COST Description		Unit		Total				
Machinery and Equipment		Acre		\$ 55.24				
Land		Acre		70.00				
		Aut	==	70.00 22222222				
Total FIXED Cost				\$125.24				
Total of ALL Cost				\$ 527.81				
NET PROJECTED RETURNS PER ACRE				(\$287.81)				
Break-Even Price - Total Variable Cost	\$175.94 per ton of HAY							

BERMUDA PASTURE , IRRIGATED South Texas District (12) 1996 Projected Costs and Returns per Acre

GROSS INCOME Description	Quantity	Unit	\$ / Unit	Total	Your Estimate	
HAY		tons	\$12.00	\$30.00		
Total GROSS Income			25	==========		
TOTAL STOCK III COTTE				\$30.00		
VARIABLE COST Description	Quantity	Unit	V . U	Total		
		2222222		22222222222		
ANNUAL IRRIGATION FEE			10.00	10.00		
IRRIGATION		appl	10.50	\$42.00		
NITROGEN (DRY)	150.00		0.31	46.50		
Fuel & Lube - Machinery		acre	4.34	4.34		
Repairs - Machinery		acre	1.25	1.25		
Labor - Machinery		hour	6.81	11.83		
- Irrigation		hour	5.70	34.19		
Interest - OC Borrowed	57.80	Dol.	0.12	6.94		
otal VARIABLE COST				\$157.04	· 	
Break-Even Price - Total Variable Cost	\$62.82 per ton of HAY					
ROSS INCOME minus VARIABLE COST				(\$127.04)		
IXED COST Description		Unit		Total		
		222222	==	=========		
Machinery and Equipment		Acre		\$24.59		
Land		Acre		70.00		
Perennial Crop		Acre		50.47		
otal FIXED Cost			==	\$145.06		
				\$145.00		
otal of ALL Cost				\$302.10		
ET PROJECTED RETURNS PER ACRE				(\$272.10)		
Break-Even Price - Total Variable Cost		\$120.84 p	per ton of HAY			

BUFFELGRASS ESTABLISHMENT, DRYLAND South Texas District (12)
1996 Projected Costs and Returns per Acre

GROSS INCOME Description	Quantity	Unit .	\$ / Unit	Total	Your Estimate
	222222222	========	========	8=========	=======
-WARNING- No gross receipts					
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
***************************************	_	=======	========	==============	
BRUSH CLEARING & CUSTOM PLANTING	1 00	acre	\$135.00	\$135.00	
SEED	4.00		7.00	28.00	
Fuel & Lube - Machinery		acre	3.17	3.17	
Repairs - Machinery	1.00	acre	0.9	0.9	
Labor - Machinery	1.08	hour	6.81	7.36	
Interest - OC Borrowed	13.09	dol.	5.70	74.59	
Total VARIABLE COST				\$249.02	·
GROSS INCOME minus VARIABLE COST				(\$249.02)
FIXED COST Description		Unit		Total	
=======================================		======		=========	
Machinery and Equipment		Acre		\$14.09	
Land		Acre		40.00	
Total FIXED Cost				\$54.09	
Total of ALL Cost				\$303.11	
NET PROJECTED RETURNS PER ACRE				(\$303.11)

BUFFLEGRASS , DRYLAND South Texas District (12) 1996 Projected Costs and Returns per Acre

GROSS INCOME Description	Quantity	Unit	\$ / Unit	Total	Your Estimate
PASTURE		AUM	\$12.00	\$30.00	
Total GROSS Income				\$30.00	•
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
2562952985295539553955395395	========	202222	===========	========	•
Fuel & Lube - Machinery Repairs - Machinery Labor - Machinery	1.00	acre acre hour	\$0.66 0.15	\$0.66 0.15	
- Other		hour	6.81 5.70	2.27 2.85	
Interest - OC Borrowed	1.49		0.12	2.65 0.18	
Total VARIABLE COST			*****	\$6.11	•
Break-Even Price, Total Variable Cost \$					
GROSS INCOME minus VARIABLE COST				\$23.89	
FIXED COST Description		Unit		Total	
Machinery and Equipment	:	======	===		
Land		Acre Acre		\$1.98	
Perennial Crop		Acre		40.00 4.45	
TableWED			==:	4.43 =========	
Total FIXED Cost				\$46.43	
Total of ALL Cost				\$52.54	
NET PROJECTED RETURNS PER ACRE				(\$22.54)	
Break-Even Price, Total Cost \$	21.01	per AUM	of PASTURE		

Projections for Planning Purposes Only Not to be Used without Updating after March 1, 1996.

B-1241 (C12)

KLINEGRASS ESTABLISHMENT , DRYLAND South Texas District (12) 1996 Projected Costs and Returns per Acre

GROSS INCOME Description	Quantity	Unit	* . •	Total	Your Estimate
PASTURE		AUM	\$12.00	\$12.00	
Total GROSS Income			,	\$12.00	·
VARIABLE COST Description		Unit	\$ / Unit	Total	
			***********	:000000000	
SEED	3.00		6.50	19.50	
NITROGEN (DRY)	30.00		0.31	9.30	
PHOSPHATE HERBICIDE	30.00		0.29	8.70	
Fuel & Lube - Machinery		appl	7.81	7.81	
Repairs - Machinery		acre	5.35 1.54	5.35	
Labor - Machinery		hour	1.54 6.81	1.54 9.97	
Interest - OC Borrowed	245.11		0.12	9.97 29.41	
Total VARIABLE COST				\$91.59	
Break-Even Price - Total Variable Cost		\$91.59	per AUM of PAST	TURE	
GROSS INCOME minus VARIABLE COST				(\$79.59)	
FIXED COST Description		Unit		Total	
Mark's and a few teachers and the second sec		2222222		=========	
Machinery and Equipment Land		Acre		\$24.01	
Cara		Acre		40.00	
Total FIXED Cost				\$64.01	
Total of ALL Cost				\$155.60	
NET PROJECTED RETURNS PER ACRE				(\$143.60)	
Break-Even Price - Total Variable Cost		\$155.60	per AUM of PAS1	TURE	

KLINEGRASS PASTURE, DRYLAND South Texas District (12) 1996 Projected Costs and Returns per Acre

And the second and the cours be well					
GROSS INCOME Description	Quantity	Unit	\$ / Unit	Total	Your Estimate
-WARNING- No gross receipts	22222222	: 6882555	22200000000	:=======:	8 222222
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
	2202222222	2222222	2222222222	**********	2
Fuel & Lube - Machinery	4.00	acre	24.42		
Repairs - Machinery			\$1.13	1.13	
Labor - Machinery		acre	0.32	0.32	
Interest - OC Borrowed		hour	6.81	3.24	
William Co.	3.13	GOI.	0.12	0.38	
Total VARIABLE COST				\$5.06	- 5
GROSS INCOME minus VARIABLE COST				(\$5.06	i)
FIXED COST Description		Unit		Total	
************************		======	==	10(d) ========	
Machinery and Equipment		Acre		\$5.42	=
Land		Acre		40.00	
Perennial Crop		Acre		71.96	
and FIVED a .			22:	 222222222	
otal FIXED Cost				\$117.38	
otal of ALL Cost				\$122.44	
IET PROJECTED RETURNS PER ACRE				(\$122.44)

COW-CALF PRODUCTION, UNIMPROVED BRUSH COUNTRY South Texas District (12) 1996 Projected Costs and Returns Per Head

GROSS INCOME Description	Quantity		Unit	\$ / Unit	Total	Your Estimate .
20222222 2222222222222222222	*************	22222	822823	********	222222	BESSEERE
CULL COWS BEEF	0.10 Hd	9.50	cwt.	33.50	\$31.83	***********
DEER LEASE		30.00	acres	1.00	30.00	
HEIFER CALVES	0.26 Hd	4.10	cwt.	56.50	60.23	*
STEER CALVES	0.39 Hd	4.50	cwt.	61.50	107.93	
				22222	22222	
Total GROSS Income				\$152.50	\$229.99	
VARIABLE COST Description	Quantity		Unit	\$ / Unit	Total	
	33222222		22222	22222222	8800088	
COTTONSEED CAKE	180.00		ib.	\$0.11	\$19.80	
FENCE REPAIR	0.53		acre	2.00		
MISCALLANEOUS COW-CALF	1.00		head	5.00		
SALES COMMISSION	0.75		head	9.00	6.75	
SALT & MINERALS	45.67		lb.	0.28	12.79	
VETERINARY MEDICINE	2.00		head	5.00	10.00	
WATER FACILITY REPAIR	1.00		head	2.00	2.00	******
CUSTOM HAULING COW-CALF	0.75		head	6.40	4.80	
Fuel					2.40	
Lube					0.24	
Repair					0.86	
Labor - Mach. & Equip.	1.53		Hr.	6.81	10.39	
Labor - Other	2.00		Hr.	5.70	11.40	
Interest - OC Borrowed	110.07		Dol.	0.12	13.21	
TOTAL MADIAN					22222222	
TOTAL VARIABLE COST					\$100.69	
FIXED COST						
Interest - IT Borrowed	1104.43		Dol.	0.12	\$ 132.53	-
Machinery and Equipment				• • • • • • • • • • • • • • • • • • • •		
Livestock					125.09	
Land - Annual Lease	30.00		acre	2.50	75.00	
TOTAL FIXED COST					\$352.19	*********
TOTAL COST OF PRODUCTION					\$ 452.88	
NET PROJECTED RETURNS					(\$222.90)	

COW-CALF PRODUCTION, 1/3 IMPROVED PASTURE South Texas District (12) 1996 Projected Costs and Returns Per Head

GROSS INCOME Description	Quantity	Unit	\$ / Unit	Total	Estimate
53333335 56625553 3 52236252	820203 800208022 228802	22 20000	8222222	*****	20002000
CULL COWS BEEF DEER LEASE	-).75 cwt.	33.50		
HEIFER CALVES		3.00 acres	1.00		
STEER CALVES		.30 cwt.	56.50		
OTELN ONLYES	0.40 Mg 4	1.80 cwt.	61.50	\$118.08	
Total Gross Income			22222	22022222	
			\$152.50	\$234.34	
VARIABLE COST Description	Quantity	Unit	\$ / Unit	Total	
22222222 22222222 2222222	222222	BHESES	# / OIR	TORM	
COTTONSEED CAKE	180.00	lb.	\$0.11		
FENCE REPAIRS	2.00	acre	2.00		
MISCELLANEOUS COW - CALF	1.00	head	5.00		
SALES COMMISSION	0.77	head	9.00		
SALT AND MINERALS	50.00	lb.	0.28		
VET. MEDICINE	2.00	head	5.00		
WATER FACILITY REPAIR	1.00	head	2.00	2.00	
CUSTOM HAULING COW-CALF	0.77	head	6.40		
Fuel Lube		•		5.04	
Repair					
Labor - Mach. & Equip. Labor - Other	3.05	Hr.	6.81		
Interest - OC Borrowed	6.48	Hr.	5.70		
incress CO BOITOMED	112.72	Dol.	0.12		
TOTAL VARIABLE COST				=======	
				\$145.05	
FIXED COST					
Interest - IT Borrowed	1,128.68	Dol.	0.12	\$135.44	
Machinery and Equipment	·		•=		
Livestock					
Land - Annual Lease	18.00	Acre	3.60		
7471 60470 0007					
TOTAL FIXED COST				\$354.67	
TOTAL OF ALL COST				499.72	
NET PROJECTED RETURNS				(\$265.38) —